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(1)  ARi=EE 12, 000
FiR=28 12,000 x 125 A =144,000M
fHEN LBR%E 200, 000F9 > 144, 000H
FEHBIEE 144, 000H

R4.10~R5.3 (64 A4>) 12,000[ x 6+ A =72, 000
# B EFR%E 200, 000/ > 72, 000
RIEE#HENER 72, 000F

R6.4~R6.3 (12 A%) 12,000/ x 125 A =144, 000/
#Bh_ERREE 200, 000/ > 144, 000/
RASEE#HENEE 144, 000K

R6.4~R7.3 (125 A%) 12,000 x 125 B =144, 0004
#BN EPR%E 200, 000 > 144, 000
RoLEFE4#BhEE 144, 000

R7.4~R8.3 (12 A%) 12,000[ x 125 A =144, 000/
#Bh ERREE 200, 000/ > 144, 000/
R6EEE#HBNEE 144, 000F

R7.4~R8.3 (12 A%) 12,000 x 125 A =144, 000/
##Bh_ERREE 200, 000 > 144, 000/
RISEE#BNEE 144, 000F

R8.4~R9.9 (64 A4) 12,000 <6+ A =172, 000M

BN LREE 200, 000 —R3FE ##BN%E 72, 000 =128, 000

128, 000F3 >72, 000F
RIEEHRNEE 72, 000F




